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Kupcarnos M.H. Pemeonuk. Teopernueckada mexaHuka c. 272.

Bapuant 1 b c

\ | \ a =40 cm, b= 50 cu,
T2 o T c =45 cMm, R =50 cwm,
m1 = 90 kr, ms = 14 KT,

a = 0.17 pag, L = 30 cMm,

A zg zZ M,=3Hwm t=5c.
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Bapuant 2 b c

| a=40cM, b=7T0cu,

xo €=55cM, R=50cm,
mi1 = 45 Kr, ms = 14 Kr,
a = 0.08 pag, L = 30 cwm,

zZ M,=09Hwmt=5c.

Y2

a=>50cMm, b="T0 cmM,

¢ =60 cMm, R =60 cm,

m1 = 75 Kr, ms = 10 KT,
B a = 0.13 pang, L = 40 cm,
2z zZ M,=48 Hv,t =4 c.
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Bapuant 4 b

‘ a=25cM, b=45 cmM,

T o1 To c=35cMm, R =30 cm,
& i m1 = 40 Kr, ms = 6 KT,
= 0.09 pan, L =15 cm
A a ) )
@C -’g zZ M,=09 Hwm t=3c.
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Bapuant 5 b

‘ ‘ ‘ ‘ a =40 cMm, b =70 cwMm,

T ro C=055cM, R=45cw,
mi = 65 Kr, mg = 14 KT,
a =0.16 pag, L = 30 cMm,

zZ M,=18Hm, t=5c.

A ¢

77 77




Bapuant 6 b
| | \ a =45 cm, b = 55 o,
T2 o T c =50 cMm, R =50 cm,
= my = 60 Kr, ma = 6 Kr,
a =0.13 pag, L = 35 cMm,
ac 7;1 gB zZ M,=49 Hm, t =3 c.
n
Y2 L y
Bapuant 7 b
| | \ a =45 cm, b = 55 o,
To g T ¢ =50 cMm, R =55 cm,
Q my = 90 Kr, ma = 18 kr,
a =0.18 pag, L = 35 cwMm,
A B oM —o6Hmt—6e
« 7. 7.
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Bapuant 8 b
‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
To o1 T c=>55cMm, R =55 cm,
o my = 35 Kr, ma = 10 Kr,
a = 0.09 pag, L =40 cMm,
ac ; gB zZ M,=17Hwm t=4c.
ey
Y2 L y
‘ a=25cM, b=>55cmM,
ro ¢=40cM, R =35 cu,
m1 = 60 Kr, ms = 14 KT,
B a =0.11 pag, L =15 cMm,
g zZ M,=0.7Hwmt=5c.
Y2 l
Bapuant 10, b
‘ ‘ ‘ a =20 cMm, b = 50 cwm,
T o1 ro €=35cM, R=25cw,
= m1 = 60 kr, ms = 10 KT,
a =0.14 pag, L =10 cMm,
% aC /g zZ M,=0.7Hwmt=4c.
n
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Bapuant 11 b B

Y2

a =20 cMm, b = 50 cwm,
c=35cMm, R =30 cm,
m1 = 45 Kr, mg = 14 Kr,
a = 0.08 pag, L =10 cMm,

zZ M,=03Hwmt=5c.




Bapuant 12 b
‘ ‘ ‘ a =155 cMm, b =65 cmM,
T2 T c =60 cm, R =60 cwm,

m1 = 35 KI, ma = 6 KT,

a = 0.08 pang, L =45 cMm,

(xc A ZE zZ M,=33Hwmt=3c.
7. 7.
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Bapuant 13 b c

\ \ \ a =35 cm, b= 45 cu,
o g z ¢ =40 cM, R = 45 cw,

Q m1 = 70 kT, ms = 10 Kr,
a =0.12 pag, L = 25 cMm,
Z 2 M,=23Hwmt=4c.

‘ a=45cMm, b="T5 cwm,
ro €=60cM, R =055 cw,

mi1 = 70 kr, ma = 10 Kr,

B a =0.12 pag, L = 35 cMm,
zz zZ M,=35Hwm t=4c.

\
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‘ a =25 cMm, b =55 cwm,
ro ¢=40cM, R =35 cu,
m1 = 60 kr, mgs = 10 KT,
B a = 0.1 pan, L =15 cwm,
4 zZ M,=1Hwm t=4c.

Y2

‘ a =35 cMm, b = 65 cwm,
ro €=050cM, R=45cw,

m1 = 85 Kr, mg = 10 Kr,

B a = 0.15 pag, L =25 cMm,
& zZ M,=33Hwm t=4c.

Y2

‘ a =50 cMm, b =70 cMm,
o c =060 cMm, R =55 cm,
m1 = 65 Kr, mg = 14 Kr,
B a = 0.16 pag, L =40 cMm,
o 2w z M,=28 Hv,t =5 c.




Bapuant 18 b
\ | \ a =35 cm, b= 45 o,
To T T c=40 cm, R =45 cm,

m1 = 70 kr, mo = 6 KT,

a =0.11 pan, L = 25 cMm,

A zg zZ M,=4Hwmt=3c.
« 777 7.
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Bapuant 19 , b c

\ \ \ a =40 cm, b = 50 o,
T2 T T c=45cm, R =45 cwm,
mi1 = 70 kr, ma = 10 Kr,
a = 0.16 pag, L = 30 cMm,

A

(xC ZE zZ M,=3Hwm t=4c.
/ 7. 7.
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Bapuant 20, b

a =45 cMm, b = 65 cwm,
c=>55cMm, R =55 cm,
mi = 50 Kr, ma = 6 Kr,
a = 0.07 pag, L =35 cMm,
2z _z M, =33Hwmt=3c.

a =25 cMm, b =45 cwm,
c=35cM, R=35cm,
m1 = 45 kr, ms = 10 KT,
a = 0.07 pag, L =15 cMm,
2z z M, =0.6 Hvm, t =4 c.

‘ a=35cM, b=>55cM,

\ |
T o1 T2 c =45 cMm, R =40 cm,
= m1 = 40 kr, ms = 10 KT,
= 0.1 pan, L =25 cm
A @ , ,
¢ -’g Z M,=1Hwm t=4c.
77 // 77,
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Bapuant 22, b

Bapuant 23, b

‘ ‘ ‘ a =30 cMm, b = 60 cwm,
T T o c=45cM, R =35 ¢,
my = 45 Kr, ma = 6 Kr,
B a = 0.1 pan, L =20 cwm,
a 4 zZ M,=15Hwm t=3c.




Bapuant 24, b
| | | a =30 cm, b = 40 o,
To T T c=35cM, R =40 cm,
¢ my = 60 Kr, mo = 18 kr,
A a =0.12 pag, L = 20 cMm,
2z _zZ M,=0.6Hv t=6c.
« 777 7.
¢
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Bapunanr 25, b
| | | a =40 cm, b = 70 cw,
x e xos C€=055cM, R=45cw,
o my = 30 Kr, mg = 14 Kr,
a = 0.09 pag, L = 30 cm,
A < B % M. =0.6Hw t=5c.
n
y " (2
Bapuant 26, b c
‘ ‘ ‘ a =35 cM, b =55 cwm,
T o1 T2 c =45 cMm, R =40 cm,
o my = 35 Kr, mg = 18 Kr,
a =0.11 pang, L =25 cMm,
% aC -’g zZ M,=04Hwmt=6c.
7 .
n
y " (2
Bapuant 27, b
a =30 cMm, b =40 cwm,
To o1 T c=35cM, R =35 cwm,
e m1 = 25 Kr, ms = 14 KT,
a = 0.08 pag, L =20 cMm,
aC 4 zg M, =03Hwm t=>5c.
l 77 77
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Bapuant 28, b c
‘ ‘ ‘ a =40 cMm, b = 60 cwm,
T o1 T2 c =50 cMm, R =45 cm,
= m1 = 50 kr, ms = 10 KT,
A ¢ a =0.12 pag, L = 30 cm,
o zz M, =18 Hm, t =4 c.
77 // 77,
n
y " Y2
Bapuant 29, b c
‘ ‘ ‘ a =50 cMm, b = 60 cwMm,
T2 o T c=>55cMm, R =60 cm,
@ m1 = 75 KI, mg = 14 Kr,
a =0.14 pan, L =40 cm,
A B oo —soHwmt—5e
O{C 77 77
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Bapuant 30, b

a =40 cMm, b="T70 cmM,

xo C=55cM, R=45cm,

m1 = 35 Kr, me = 10 Kr,
a = 0.09 pag, L = 30 cMm,
zZ M,=11Hwm t=4c.
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0.240
0.131
0.318
0.465
0.230
0.595
0.164
0.247
0.175
0.354
0.139
0.439
0.298
0.296
0.256
0.357
0.232
0.536
0.376
0.398
0.201
0.261
0.501
0.109
0.140
0.102
0.143
0.302
0.203
0.248

1.199
0.654
1.272
1.395
1.148
1.785
0.986
0.986
0.877
1.418
0.693
1.317
1.193
1.185
1.026
1.430
1.160
1.608
1.502
1.193
0.805
1.046
1.502
0.652
0.698
0.611
0.717
1.208
1.017
0.990

-4.038
-7.119
0.000
1.957
-5.316
3.182
0.000
0.000
-2.838
0.000
-2.373
6.585
0.000
0.000
0.000
0.000
-7.089
1.974
0.000
3.750
0.000
0.000
2.353
0.000
-9.545
0.000
-7.179
0.000
-6.292
0.000

0.000
0.000
4.706
0.000
0.000
0.000
-5.833
8.889
0.000
1.429
0.000
0.000
3.125
4.375
2.143
2.632
0.000
0.000
3.750
0.000
2.727
5.000
0.000
-4.615
0.000
-8.491
0.000
5.000
0.000
6.667

-55.385
69.661
58.235
30.870
62.152
-59.091
-62.500
-71.111
42.973
32.143
40.169
-73.049
-49.375
61.875
38.571
47.105
62.405
-47.763

-55.000

51.964
33.182
46.000
42.353
-46.923
79.773
53.679
-50.769
50.000
-67.865
67.778

21.170
-0.810
0.364
-0.734
-3.397
-23.181
5.490
-3.381
-0.614
-0.200
-0.280

-14.786

-0.724
1.262
0.434
1.767
1.923
-9.116
-6.224
-0.768
-0.041
-0.347
1.008
1.524
-1.084
0.110
4.232
-0.597
19.135
0.229

-3.531
0.248
-2.311
0.175
0.592
4.329
17.981
-11.569
0.140
1.071
0.081
3.741
-10.989
2.301
0.730
2.325
-0.332
1.890
-19.840
0.215
-0.343
-0.880
-0.224
4.504
0.311
0.572
-1.180
-1.397
-3.765
1.506

-15.132
2.604
-1.636
-1.018
8.930
16.490
-4.454
2.394
2.229
-0.155
0.953
10.100
-0.022
-2.299
-0.819
-2.660
5.609
5.237
5.097
-2.221
-0.261
-0.306
-3.7156
-1.133
3.131
0.348
-2.791
-0.308
-13.348
-0.972

2.524
-0.797
-4.156
0.243
-1.556
-3.079

-11.853

7.677
-0.508
-3.081
-0.275
-2.556
7.432
-7.218
-2.308
-7.437
-0.967
-1.086
13.069
0.621
-0.630
-1.854
0.824
-2.973
-0.897
1.110
0.778
-2.977
2.626
-4.448




